Ty kS
CosT 177 307

|

(o | & *1‘&

you to get marks.

INSTRUCTION:

Answer all the questions. Show your working. It may hel

Question 1 (CLO1, C2)
Shadeintheset AU (BNC")

Question 2 (CLO1, C2)
(a) Given the relation R = {(1,1), (2,2),(3,3),(2,4),(42), 3 4),(3,1), (1,3)y ontheset A=

{1, 2,3, 4}
(i) Draw the digraph on the given relation R.
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Determine whether R is reflexive, Ris s/j?mmetri‘c,ﬁand R is transitive. Explain

your answers. / —

-R s 1\5\' (eflexiye. b@(NSQ._L\')Z L. [6 marks]
—~R is agf &dn\mdﬁg becquse WI\%‘ 2R 4 Kt 4 R2

- R i not Tanstive ‘e @ose Jhenaver 1R3,3RY but | K4
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